(& #iRasE L

DA U]

LAV BEIy 21—l (BEERB) 19—)LB%| EHEYRY BORTRE
FTOo—R (28%8) ATL—KR:240mg body D1 (30%) 148 =INEYRY -
FFo—R (4:88) AT —HKR:.480g body D1 (30%) 28H BRINEYRY -
S (o e .= AT —1R:240mg.body.”D1(30%") = 1 RE _
FTO—HR(2BE) +hRAT4HUR AT 45 RG240, body IR B 14H =RINE)RY
T . 72— :480mg. body.”D1(30%) = mF _
FTC—R(4BE) +hRAT4UR AT 45 R G2A0me, body IR B 28H =INEYRY
7o —KR:.:240mg body. D1 (30%)
T FTo—R+v—KRa Y—iKRa4: 1Tmg kg D1 (30%) 21H RINEYRY -
40—R%. A TO—REHI~N
= o « s ¥4 F)L—4%:200mgbody. D1 = R
X4 ~L—4% (38E) +LVEY L EXHTEIL20merbody BiE 218 =INEYRY
s E e . ¥4k L—%:400mg/body./D1 =0
X4 bL—4% (658E) +LVEY LY EXHTEIL20merbody BiE 42H =INEYRY
¢ o e . = INRUFAH:10mg kg D1 (1ERB) =1 HE ABEF—IL500m
INRUFA+ATA44R ’f‘/a’f@ﬁl’qﬂﬁﬁﬂzﬁ . 14H HEIJ\,;UX7 LRAIU3EE £
NN s INRUFZ:10meg. kg D1 (185[) = mE AO0+—JIL500mg
I\RYTH G (F5FF WAIEBC— RIS R HA~ 60— R %) 148 REYR7 REPIL:




